
 

BK 735 Rev 02 ISSUE DATE : 14/01/2020 

EN 13240:2011 +A2:2004 

Solid fuel kit 

fitting guide 
Optional accessory instructions 



Page 2 BK 735 

1. Contents Of Kit : 

1 no. Solid Fuel Retainer  

1 no. 

Solid Fuel Liner 

(Ceramic—Left 

hand) 

1 no. 

Solid Fuel Liner 

(Ceramic—Right 

hand)  

2. Warnings : 

 

 

 

IMPORTANT—Please ensure the appliance is cold and unlit before commencing fitting this      

accessory kit. 

Please refer to the main instruction booklet, relevant to your stove, for guidance and operation of 

the appliance, when using solid fuel. 

Arada Ltd will not be responsible for any consequential or incidental loss or injury however caused. 

Please note, this accessory kit can be fitted once the appliance (stove) has been installed and 

connected to the flue system, within the property. 

Note, no technical knowledge is require to fit this kit. 

Solid fuel kit fitting guide 

Please Note—Shape Of Components May Vary Depending Upon Model 



Page 3 BK 735 

3. Fitting Procedure 

Before starting this process, please ensure that the firebox is cold and all the ash bed has been 

removed and cleaned. 

Step 1 : Open the fire door & carefully remove the original fuel retainer. Keep this safe for 

future use. 

Step 2 : Take the operating tool and insert the fork end into the location slots within the 

rear of the grate surround. Proceed to lift the grate surround up and with draw it from the firebox. 

See figure 1.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 3 : Remove both of the base liner either side of the revolving grate. Again keep these 

safe for future use in the even that the appliance is returned back to a wood only device. 

Step 4 :  Take one of the ceramic solid fuel base liners and place into the firebox along side 

the revolving grate. Ensure the largest side of this liner is against the side liner. See figure 2.     

Repeat the process for the remaining side. 

 

Figure 1. Removing The Grate Surround 

Operating    

Tool 

Base Liner 

Grate    

Surround 

Solid fuel kit fitting guide 



BK 735 

 

 

 

 

 

 

 

 

 

 

 

 

Step 5 :  Finally place the solid fuel retainer into position, engaging the two tabs within the 

front brace of the appliance. See figure 3. The appliance is now set for solid fuel use. 

 

Figure 2. Placement Of Base Liner 

Base Liner  

(Largest face against Side liner). 

Side Liner 

Figure 3. Solid Fuel Kit In Situ 

Arada Ltd, The Fireworks, Weycroft Avenue, Axminster, Devon, United Kingdom EX13 5HU 

Base Liners  

Solid Fuel Retainer 

 www.aradastoves.com 

Solid fuel kit fitting guide 



 

BK736 Rev 02 ISSUE DATE:  14/01/2020 

EN13240:2011 +A2:2004 

Rear heat shield 

kit fitting guide 
Optional accessory instructions 



Page 2 BK 736 

1. Contents Of Kit : 

1 no. Heat Shield (Stainless Steel—Unpainted) 

2 no. 

Heat Shield 

Mount Bracket 

(Stainless Steel—

Unpainted) 

2. Warnings 

 

 

 

IMPORTANT—Please ensure the appliance is cold and unlit before commencing fitting this       

accessory kit. 

Please refer to the main instruction booklet, relevant to your stove, for guidance on the installation 

and operation of the appliance. 

Arada Ltd will not be responsible for any consequential or incidental loss or injury however caused. 

Please note, this accessory kit can only be fitted prior to the appliance (stove) being installed and 

connected to the flue system, within the property. 

When handling the components of the kit, it is recommended to wear suitable gloves to prevent 

hand injuries. 

Rear heat shield kit fitting guide 



Page 3 BK 736 

3. Fitting Procedure 

Before starting this process, please ensure that the stove is cold and unlit 

Step 1 : Working on the rear of the appliance, remove the 4x screw, indicated in figure 1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure 2. Mounting Brackets 

4 No. Fixing 

Locations 

Figure 1. Fixing Locations 

Step 2 : Take one of the mounting brackets and fix in 

place using 2no. Of the screws removed in step 1.  See 

figure 2. 

Please note the orientation of the bracket 

Rear heat shield kit fitting guide 



BK 736 

Step 3 : Repeat step 2 for the remaining mounting bracket. 

Step 4 : Take the heat shield and position the mounting slots over the corresponding lugs 

on each side mounting bracket. Gently engage the lugs and push down, to locate the heat shield 

onto the mounting brackets as shown in figure 3. 

Step 5 : With the heat shield fitted, please observe the revised distance to combustible   

materials, as stated in the instruction manual (BK 730).  

Figure 3. Heat Shield Layout 

Arada Ltd, The Fireworks, Weycroft Avenue, Axminster, United Kingdom EX13 5HU  

Flue Pressure Test Point Location. 

This can be accessed whilst the 

heat shield is in situ. 

 www.aradastoves.com 

Detailed View Of Engaged Lug 

Locating The Heat Shield 

Rear heat shield kit fitting guide 



 

BK 737 Rev 02 ISSUE DATE : 14/01/2020 

EN13240:2011 +A2:2004 

Direct air kit 

fitting guide 
Optional accessory instructions 



Page 2 BK 737 

1. Contents Of Kit : 

2. Warnings 

 

IMPORTANT—Please ensure the appliance is cold and unlit before commencing fitting 

this accessory kit. 

Please refer to the main instruction booklet relevant to your stove, for guidance and operation of 

the appliance. 

Arada Ltd will not be responsible for any consequential or incidental loss or injury however caused. 

Please note, this accessory kit can only be fitted prior to the appliance (stove) being installed and 

connected to the flue system, within the property. 

When handling the components of the kit, it is recommended to wear suitable gloves to prevent 

hand injuries. 

2 no. M5 x 10mm Fixing Screws (Pozi) 

1 no. Direct Air Plate (Stainless Steel—Unpainted) 

2 no. M5 Penny Washer 

Direct air kit fitting guide 



3. Fitting Instructions 

 

Step 1 : Working at the rear of the appliance, locate the base mount rails, as shown below. 

Step 2 : Take the direct air plate and slide the open end into the stove, resting the base of 

the plate onto the base mount rails. Slide the plate forward until the rear fold makes contact with 

the rear of the appliance. 

Step 3 : Secure in place using the M5 screws and M5 washers supplied, as shown below.  

Page 3 BK 737 

Base Mount Rails 

Fixings M5 Screw & Washer 

Fixing Locations 2x 

Direct air kit fitting guide 



BK 737 

Arada Ltd,  

The Fireworks, Weycroft Avenue,  

Axminster, Devon, 

United Kingdom,  

EX13 5HU  

 www.aradastoves.com 

Notes :  

Direct air kit fitting guide 


